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(a) 338 p Fo—ERIR -
(b) P EEEERE [(1,1)] ~ [(2,4)] K [(1,3)] -
(c) FREHZHERILR p ATEEAEN A 1953E] -

(9] (a) B p HAEKSY: - SR SORS AT -
(i) B A P03 (z,y) WE > KW e +y=z+y- (z,y)p(z,y) BRI & p BAREM -

(ii) JiL]L A Epff%:ﬁ?—% (%yl) Eﬁi (1132792) ﬁﬁ§ ’ % ($1ay1)P($2,y2) ﬂj ’ E'J T+ Y1 =2To+ Y2 °
o4y =x1 + 11 0 FTEL (@2, v2)p(21, y1) TREKAL » #8 p HAEETEME -

(i) ¥ A FEE=ICFR (v1, 1), (v, yo) B (x3,y3) T ° & (v1, y1)p(z2, y2) B (22, y2)p(xs, y3) X
A HETCRREREM v1+ i =220+ y H o+ ye = a3 +ys > BIGF 21 +y1 = x5 +ys © Bl
(x1,y1)p(xs,y3) BRAL » i p BEBERM: -

(b) [(1, D] ~ [(2,4)] B [(1,3)] ZSFEPEATT -
(1, D] = {1, 1)}
[(2,4)] = {(1,5),(2,4),(3,3),(4,2), (5, 1)} =
[(1,3)] = {(1,3),(2,2), (3, 1)} =
(c) & P BHEG A HEERGR p FTELERZE] - Al
P =A{(L, D], 2)], [(1,3)] [(1,4)], [(1,5)], [(2, 5)], [(3,5)]; [(4,5)], [(5, 5)]}
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